EARAROBEEIERT — 2 N— IBISH —F 20195F8H24H (£) 2E#RIH

mﬂa%ﬂﬁgsﬁgi kBEFl (BED) T2 (xwlm | memml - ) oo mE
[A&4£)] 1 7% :7,800,000 @ 23 :3,100,000 @ 3 3 :2,000,000 @ 4 3 :1,200,000 @ 5 j&:780,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e A+ AR :07. —4-2- . — AREE (ER
117111 TAITLAY KRNI "8 GO.OEU 3(0_7)7 Sz 1132 ! :1_740) T’IEHE{%
LFAILANRTH— B:FAILIHAT T ILBSESES
LA S £ 6 | BEWEM 3:07.9 7-6-3-3 | 13.2| — 4 518 | mtEsH (5iF)
) 8 TATINTZ L - 60.0 (1 1/4) ) (B) ¥+By rT7—L
R:F4—TA>N7 b B:IC T v—IN>F J—HrTr—LA
. N . 47 | ABEEFOIR 3:08.0 10-10-6-6 | 13.2| — 2 400 | BER (E#H)
sBY o | Fv—H—-F17> [B] 60.0 (3/4) © | . YGGH-2757
L:v—NFAY>F— B:TL-—KFUZX pIEsEae]
P = > 7 | NEFFHK 3:08.2 3-2-3-3 [13.2| — 6 440 | EBFUE— (EH)
48|12 F1TTAFx v 27 - 60.0 A 1/4) (+4) | KHB=
Z:ANZXZATNG B:ILT7HvR45—K 7975 TT—L4
- N > AHR— :08. -1-1- . — nEaEx (EH)
5|57 tH—IEFLEY > 5 GO_OK (32018/26) 1-1-1-1 13.2 5 :'962) /J\EEE—
L:T7EOXLGEL BEy hEHYUT AR5
N o . 8- 4| - EEEE (RR)
6 3| A=Y T b it 4 fip (:;1{1*;) 5-6-8-8 | 13.4 3 (4—718 oo
RN=—VIF14 B:RFHZXEINZT J—H T — L
. = 4% 4 | FEIE 3:11.4 8-8-9-8 |13.4| — 8 450 | fRIBE (EH)
71111 VAY R A 58.0 (1 3/4) +2) 3]z
L:ZoY—rb—O— B:50%2-—> FATPLANITT
. = 5 | BAEX 3:13.0 8-8-9-8 |13.5| — 9 508 | B AIE (EH)
EH g|MtE>Ta—1 60.0 ) (1g) | KRR
Rid7—3UT7> BRHLXHI Bl IvF
N o6 | HEK 3:13.1 2-2-7-7 | 13.6| — 13 | 468 | HOEEFNE (i)
98|13/ VRV T 60.0 (3/4) () | FHIES
RV THTY94 R B:URCI>T T o ISFA% 5
S # 3 | BEHAS 3:16.9 13-12-13-12| 13.8 | — 12 | 462 |IRAREL (E#)
tof7{10| 7% 5.0 (519 Gy | ZTESL=ZE=2 @)
LYY TF—TIH14F B:UV—NJIL—2X Shall Farm
N t 4 | LB 3:17.0 1-11-11-11{ 13.8 | — 11 474 | EESELE (FH)
11 5 AY— Frj#}[/7 * 0.0 7E) (+8) *ﬁﬁi
RO—XFLGEL BT T A TrA it
. B4 | BEEE 3:17.5 11-12-12-13{ 13.9 | — 10 | 462 |EAKRE= (RR)
1ol 4| 7=T B0 @ Gy |39 EIoLsey
L:xryvvH/ €% B4 FXvO-LIb INRYUG
N o > 5 | EFHAR - -4-5- - — 7 492 | BERFNME (S53H)
xx|5/6|®A fORXO-7 - 0 (k) 3-4-575 (::6) i
A:Smart Strike £:Glimmering Fred W Hertrich
@ 71 L
) 50.4-37.8
NAZEA L
@ 1—F—@&BIEf
13=7r= 7,13(6,12) (3,11)-8(1,9)-2=(4,5)-10
20—+ — 7(12,13) (6,11)-(3,8)-(1,9)-2=5-(4,10)
S=57= (x7,11) (12,8)6-2-13,3(1,9)=5-4,10
43—+ — (x7,11)-(12,8)-6,2=13(1,3,9)=5-10-4
[ RN
B OB 1 230M 714K 8-11 350M e & 6-7 840M &R 2-8-11 1,130M
8 B 1 120/ 2-11 300 B & 8-11 880M 3B 11-8-2 3,880
8 160/ 2-8 470M B H 11-8 1,420/
2 140M9

ABICOVWTRDTEEERROODE. TR LIV,




